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MA 141-012 F18 Recitation 8, Oct 16

1. Use logarithmic differentiation to determine j—i’ for the given functions.

2%sin(2z + 1)

cos(z)vVax? +1

CL) y = Icos('d:z:) b) y =

2. Claire starts at point P and runs east at a rate of 11 ft/sec. One minute later, Anna
starts at P and runs north at a rate of 9 ft/sec. At what rate (in feet per second) is

the distance between them changing after another minute?

3. As sand leaks out of a hole in a container, it forms a conical pile whose altitude is
always the same as its radius. If the height of the pile is increasing at a rate of 7
in/min, find the rate (in cubic inches per minute) at which the sand is leaking out

when the height is 12 in.

4. Water is flowing at a rate of 6 ft*/min into a tank that is the shape of a right circular
cylinder whose base radius is 2 ft. How fast (in feet per minute) is the water level

rising?

Relevant Info to Recall

. » 2 . . i .
1. Volume of a circular cone is V' = %m"‘h, where 7 is radius and £ is height.

2. Volume of a circular cylinder is V = nr?h, where 7 is radius and A is height.
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